
TP 3bis

1 Plus ou Moins ?

I Exercice 1

import f r . j u s s i e u . s c r i p t . Deug ;
pub l i c c l a s s plus_moins{

pub l i c s t a t i c void main ( S t r ing [ ] arg ){
i n t cpt=0;
i n t n=( i n t ) (Math . random ( )∗1000 ) ;
i n t m;
do{

m=Deug . readInt ( ) ;
cpt++;
i f (m==n)

Deug . p r i n t l n (" gagné ! " ) ;
e l s e i f (m<n)

Deug . p r i n t l n (" trop p e t i t " ) ;
e l s e

Deug . p r i n t l n (" trop grand " ) ;
}
whi l e (n!=m) ;
Deug . p r i n t l n (" en "+cpt+" coups " ) ;

}
}

2 MasterMind

I Exercice 2

import f r . j u s s i e u . s c r i p t . Deug ;
pub l i c c l a s s mastermind{

pub l i c s t a t i c void main ( S t r ing [ ] arg ){
i n t combi [ ]= new in t [ 5 ] ;
i n t propo [ ]= new in t [ 5 ] ;
i n t bp , mp, cpt=0;
f o r ( i n t i =0; i <5; i++){

combi [ i ]=( i n t ) (Math . random ( ) ∗ 4 ) ;
}
do{

f o r ( i n t i =0; i <5; i++)
propo [ i ]=Deug . readInt ( ) ;

cpt++;
boolean com [ ] = new boolean [ 5 ] ; // A été u t i l i s é
boolean pro [ ] = new boolean [ 5 ] ; // A été u t i l i s é
f o r ( i n t j =0; j <5; ++j )

com [ j ]=pro [ j ]= f a l s e ;
// Les bien p l a c e s
bp=0;

1



f o r ( i n t j =0; j <5; ++j )
i f ( propo [ j ]==combi [ j ] ) {

bp++;
com [ j ]=pro [ j ]= true ;

}
// Les mal p l a c e s
mp=0;
f o r ( i n t j =0; j <5; ++j )

f o r ( i n t k=0; k<5; ++k){
i f ( ! com [ j ] && ! pro [ k ] && propo [ j ]==combi [ k ] ) {

mp++;
com [ j ]=pro [ k]= true ;

}
}

Deug . p r i n t l n (" bien p lace = "+bp ) ;
Deug . p r i n t l n ("mal p lace = "+ mp) ;

}
whi l e ( ( bp<5) && ( cpt <15)) ;
i f ( bp==5)

Deug . p r i n t l n (" trouve en "+cpt+" coups " ) ;
e l s e

Deug . p r i n t l n (" perdu ! l a bonne combinaison e t a i t : " ) ;
f o r ( i n t j =0; j <5; ++j )

Deug . p r i n t ( combi [ j ]+" " ) ;
Deug . p r i n t l n ( ) ;

}
}
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